JENEER S TR e -

TD-511 *
b=/\DX $¥EE TAIVL

@Y 1 X+ B/24]- 741 (750 x 504%)
@R - i 7— b 110kg: AX L E#E95kg
ORI (ER) e 501k (22kg)
[ E:9 N 0O TSIy 90 % 504,
@& A ENRI~HE- ~~70><4204LJW
.ﬁﬁ%kﬂﬂ]ﬁ” ........................

TR S REBAIC T 1 VLTI E

w1
FTET

£/, MTHRRTEEL
ERARHZELITY,

BRI EL

DZENH

(=) A x } ES = 1\%_%2;‘5,\5 A x gx = E|
L 23 4 1
5 6 7 8 01011 2 3 4 5 6 7 8
12 13714 15 16 17 18 9 10 11 12 13 14 15
19 20 21 22 23 24 25 16 17 18 19 20 21 22
26 27 28 29 30 31 23 24 25 26 27 28

1-28 REREE

BE
1-128 X

XIDNSAY EARERIZ2024F1A1AREDHERICEDSVTEREATLET.



